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MORE CONFIDENCE INTERVALS

There are two parts to a confidence interval:
» the interval itself
» the confidence level

One is never given without the other, especially since the
confidence level will affect the width of the interval.

How does the confidence level affect the width of the interval?
Think of a number between 1 and 100. If | want to guess the

number, | have a 1/100 chance of being correct. If | guess an
interval, say between 50 and 75, then | have a 25% chance of

being correct.

The wider the interval, the higher my confidence that the
guess is correct.
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Example: Understanding News Reports

Often, confidence intervals calculated from some study or survey are
reported in the news. Tﬁe following was reported in the paper......

"A study senior high school students found that their average
weight was g above theirrecommended weight. This result was
considered accurate Withi, 19 times out of 20."
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Example:

AP biology students tested the bacteria levels in the daycare.Tr.1ey
chose 10 random locations, took swabs, and swiped these in prepared
petri dishes to let the bacteria cultures grow. After 48 hrs, these were
examined under a microscope and the bacteria count was recorded.

The results are given. This bacteria population is know to have a growth
patterns that follow a normal curve.
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